> <~

& KBI DONGKOOK IND. €O, LTD
L BAA Y

AlolHjolo| EZAMA @S &F E5o X&H JisE wdEE
E M N2 A4, ZE AIYE #S0AM 2Zo o|xls SES
Haslste AS SEE gUch fEls #ZF AEHA 72
Telstn, A agM2 IHsEsie, XA ALE et B350
X+ gtde E5st= ol 7|6d & A4k E3, XF JtsE
gy Zgs 8l 7ide AEE e osASHC

1. 820 MECIANEE BESstl, X[& Jhset 4 E fls 2 AR
g50M gd Haks 2|45t 5o, 2 A H ¥ e Eoin, 88
Mol et ez SR

2. OX| E8ME XEFHoZ A7, MY 7ts olHA| AlEE =
5tof EtA B &S E0l1, M7 A S| AHE aE8HEE

ALESED, G| & FAEetn Aol MALED &2 FR et

3. M= njHollM e =~ Qs RQEESA S EXNS alst, o2t
to|2E e olestn, H7| 88 aststn, HI| S22 MEe H HEE
Mzl & Sl ol o|xl= g gt

X% Jtset MEE dASte, M=

HMEZol =9 7| Metof| 22X g4 des 246, M8 Jiset

A2 MES HERCE

20254 3 € 1«
Hold|ojo| EFAAE CHHEOIAL HES



;M ty| 5% TJ/of Xz

T
o
ol
oF
=1 ..
o ol .
- — no
KO ofl KO oF
o o i w00
o MR ==
m . - e 1l v
) o N N K T =
S I K _ 5l
z RO " o
g oo B o
= R0 TN " L
B Luh E B BN
© o

: M oiB| 5% tCO2/ A&
: &d "] 5% tCO2/Y A&

: M ofv| 5% ton/ A&
: M tid| 5% ton/ A&
: M ofH| 5% ton/ A&
: M CHH| 5% ton/Y A2

r 124 ol4t

2
%h
_ %h
%h

=

i & &
o & &
=

7H

=
H
H

20254 38 1 ¢

7 ole[otol =4 HE O

A
A

7t
At
Hl
H 7] =

7
A AR olALS

b 7 =
=

25

7. & gt
8. X &
10.



I o @0 o | @ @ a0
i I i RO | RO 0
ao I T s T w0 @0 @@ w|w w|oo| oo oo
R R R ST YW Y|w R|R R W0
3l 3l 3 R 0 N N|FW 3|3 s F[F[E]3
N Y awm maw waaxd (§OITYT
N N R I
40 v = SR RS U I BRI R N
L W oW W W o T T R
— © © m m ™ n o Ol ~—|— —| ||+
moom moom v v v I T T
0w v w 0w v w v v Vi VI VIl Ww|lLw
Al Al Al Al Al Al Al Al Al Al Al Al Al Al Al Al Al
H
_ | ar
K0 | B0
10 | RO
30 | mp
R0 | Wy
RO |
WD
Al
0 ._|_|D g
(aV} N N
B B Yo
Ity M ol
[T} — — 7 = ~ = ~ 00 Wl =2
HI A a K w = K w r K b = an| o
0 om = w WO w W o % U |
o owm = zw = =z w = o D &
— F 7 —= K & = K Fl= W 3
< - = & Rl < = Rl < iy 5 = o
A B ORop o o o o W& w | 2
oSS almow M AR o W S| G | ) m)
KOl - I I I o B I R R Bl
7 0B G|lm TN Ny TN A Z[w || T
R A Tl I el R R g Nl =
~ & A ROORO[ROAD ROORO[™ D0 O M| OH| < | %
ORI R TR VI ISR 0 B Y =gl - e )
MW N Sy © I Uy © I IR = = | g a)
bl _| — E.a =0 2 =5 = 0 =5 = =) Ro ! N ﬁ__._: O._
s 0 B Wl < o ofg < O oIk molm @|w|Bs[F|S
I = 8 0|8 — 0 0|lF = 0 0| H|&F WM{r|OE|H|T
T N n I N D N D
— [aN] ™ < < Lo Lo (o] N~ (e 0] (@]
A0 =
n0
el .
Rl
il or ar
[aN] - -
’ 3 S U
b || & R ° ar ar PN Ee
T |or| o © & ~ |3 |%|=|m|g
o | 3D mo 0 R o al=slmlN
| =2 o0 i o 0 == A
or o =< S 0 Ll wo | 0| < | oF
R0 m.m = <l o = | R & 80
l B B S =< [ fo| | o
RO = <l <+ = W|s|aE| s
il Ko 01 00 = RIk|H|T
- N o o © S| n|z]| o




